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ex) x=2 3,x=4 5 f(X)
>
f(x)=ad+bd +cx+d
>

f¢x) =3ax’ +2bx+c

x=2,4 f¢2) =0, f¢4) =0
12a+4b+c=0 ...
48a+8b+c=0 ......
f(2)=3,f(4) =5
8a+4b+2c+d=3 ...
64a+16 +4c+ d=5 ...

> a:—l,b:g,c:-lz,d:13
2 2
> f(x):-1x3+g>5- 12x+13
2 2
>f¢x) =0 0

Xx=2,4

f €% :-%x2+9x- 12:-g(x-2)(x-4)
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>f¢x) =0 X=2,x=4 ... f€X =a(x-2)(x-4)

>
>

X=2 Xx=4

a<o
X=2 x=4

fEx)=ax-2)(x- 4 (a<0)
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£(x)
f¢x) =a(d - 6x+8) x2
- - R o)
f(X)=as=x>- 3x“+8x=
(=ae3 P
0
o o)
f(x)=ag=x- 3> +8x=+b
C9=2e3 P

f(2) =3, f(4) =5

§a+b:3 Ea+b=5
3 3

a:-g,b:13
2

f(=-&

2%_3 7]

X (x- 2y

(x-a)

y=(x- 2°(x-a)

y=a(x- 2)°(x- a)

f(x)=a(x- 2)%(x-a)+3
a
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x®- 32 +8x9+13= - %xﬁ%x?- 123+ 13
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< > f@-1o) (| |\
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< > X /
< > X Xx=5 / /
F(0=a(x- 2%(x- 9+3 | \ /
X)=a(X- X - +
‘\; /
f(x) a b
< >
< > a
< > f(x)
< >
f(4)=5
f(4)=a 4" (-1)+3=5
1
a=-—
2
1 2
f(x)=-E(x- 2)°(x- 5)+3
< >
< >
< >
( )
f(x)=ax +bx +cx+d (a, f(a)),(b, f(b)) a>0
a+b fae+bc_')c_') . ‘f(X)‘=<’:‘><3+b><2*'(’3X+d
£€2 &2 g C@t@)
FIN L
x ( ) SN
| : i
b-a . b- A
X X x=a A B E
2 TR W
L @f@-TQeh: /|
f(x)za?-mb'aﬂ’(x- b)?+ f(b) L NN /
20 Py
T
R A L W 7
a- 2 { ‘ \ / _
q=Af@)- (b)) j

(b-a)
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(x-a)’

(a, f(a)),(b, f(b))

(a.O),?%,og(b,O)

y=a(x-a) x b)gx- a ;—bg

_f)- f@)

b a (x-a)+ f(@)

y

f(x)=a(x -a)(x- b)gx

(p, f(P)
y=a(x- p)°

y=f¢p(x p)+ f(p)

f()=a(x- p)’+ f&p)(x- p)+ f(p)

(a,f(a)).(b, f(b))
f¢x) =3a(x- a)(x- b)

& a+bs, 1) @) a4 fa
-a
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f(x)=ax’ +bx* +cx+d
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y=a(x-a) x b)gx > 5
l
y=f &)(x- p +f(p)
\ . () =ax +bx® +cx+d
\ [
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/ \ y=a(x- p)°
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+bo @ +b tea +b 6_ 3a 2
f =3a -acz -bZ=-—(b-a
?2 5 & 2 ) P 2P

q=2Af@)- f(b)

(b-a)’
_ 3 2f@)- fB) .\ .2 3(f(b)- @)
o= oay 0¥ 2b-a)
m y=mx- p+i(p) 3
RTONTS W Y3 P E(P)
b-a
f€p=om / /
’ /
(p, f(p)
3 /
2
[
|
b-a
n=
2
a=.10)-f@) 1 _ . m
- b-a ab -a 62_ 2n?
2 s
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(9= os(x- P +omix- p)+ (P
ex) f(x) x=1 2,x=3 6 f(X)
) m:6:_i:2n:3;2l:1
(24)

f(X)=-(x-2°*+3(x- 2+4
=-x*+6x*-9x+6

< >
f(x)=a +b¢ +cx+d X a,b
f¢x) =3a(x- a)(x- b)

f(b)- f@@)= 3a(5’(x- a)(x - b)dx=- %(b - a)®

a

X=p taylor
100="220c o+ 232 k- py+ ) B+ 1)
X=p X f&p)=0

T®P) (- py+ Fqp)(x p)+ 1 (p)
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